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if isCapturing() {
  store stack frame into
    context;
  store artificial PC as
    LPI−index;
  return;
}

    java.util.Vector v = new Vector();

LPI

LPI

      ...

    ...

 

public class Foo {
  private Bar bar = new Bar(...);

    // calling method
    int l = 0;
    java.util.Date today = ...;

    if (...) {
      boolean test = false;

    }
    int k = 5 * bar.b(today);
    ...

public class Bar {
  public int b(java.util.Date date) {
    // top frame’s method

    ...
    return ...;
  }
}

}
  }

  public void f() {

if isCapturing() {
  store stack frame into
    context;
  store artificial PC as
    LPI−index;
  return;
}

Go to previous stack frame

    Computation.capture();
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Go to next stack frame

if isRestoring() {
  get LPI from context;
  switch (LPI) {
    ...

      load stack frame;

    ...
  }
}

    case invoke_capture:

      goto invoke_capture;

if isRestoring() {
  get LPI from context;
  switch (LPI) {
    ...
    case invoke_b:
      load stack frame;
      goto invoke_b;
    ...
  }
}

LPI

LPI

      ...

    ...

 

public class Foo {
  private Bar bar = new Bar(...);

    // calling method
    int l = 0;
    java.util.Date today = ...;
    java.util.Vector v = new Vector();
    if (...) {
      boolean test = false;

    }
    int k = 5 * bar.b(today);
    ...

public class Bar {
  public int b(java.util.Date date) {
    // top frame’s method

    ...
    return ...;
  }
}

}
  }

  public void f() {

    Computation.capture();
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